NATIONAL UNIVERSITY OF MODERN LANGUAGES EXAMINATIONS BRANCH

ML: 1/11-2020-Exam Dated: July 2025

NOTIFICATION

PhD (Education) - 1st Semester

End Term Result - June 2025

S#	Roll No.	Name	ESQT-801 Advanced Course in Quantitative Research	GPA	ESCT-802 Curriculum Theories and Practices	GPA			Total (300)	%age	SGPA	Remarks	
			(100)		Total Marks (100)		Total Marks (100)						
1	PD-EDU-S25-432	Sidra Munir	82	4.00	81	4.00	78	3.80	241	80.33	3.93	Promoted	
2	PD-EDU-S25-433	Syed Qasim Hussain Shah	83	4.00	85	4.00	84	4.00	252	84.00	4.00	Promoted	
3	PD-EDU-S25-434	Amna Afzal	81	4.00	80	4.00	78	3.80	239	79.67	3.93	Promoted	
4	PD-EDU-S25-435	Liaqat Ali	80	4.00	78	3.80	83	4.00	241	80.33	3.93	Promoted	
5	PD-EDU-S25-436	Noreen Idrees	81	4.00	85	4.00	80	4.00	246	82.00	4.00	Promoted	
6	PD-EDU-S25-437	Sadiqa Amani (Afghan National)	77	3.70	73	3.30	70	3.00	220	73.33	3.33	Promoted	

Passing marks for each subject = 60

Director Examinations

Note: The result is declared, errors and omissions, if any, are excepted as a notice only and does not in itself confer any right or privilege independently.

NATIONAL UNIVERSITY OF MODERN LANGUAGES

EXAMINATIONS BRANCH

ML: 1/11-2020-Exam Dated: July 2025

NOTIFICATION

PhD (Education) - 3rd Semester (Directed Studies)

End Term Result - June 2025

S#	Roll No.	Name	ESQL-804 Advance Course in Qualitative Research Total Marks (100)	CGPA	Remarks	
1	PD-Edu-S24-501	Mujahid Rehman	77	3.52	Promoted	
Passi	ng marks for each subject = 0	ip				

Director Examinations

Note: The result is declared, errors and omissions, if any, are excepted as a notice only and does not in itself confer any right or privilege independently.

NATIONAL UNIVERSITY OF MODERN LANGUAGES EXAMINATIONS BRANCH

NOTIFICATION

MPhil (Education) - 1st Semester

End Term Result - June 2025

S#	Roll No.	Name	ESQT-701 Quantitative Research	GPA	ESCP-702 Curriculum Planning and Management	GPA	ESIE-762 Inclusive Education	GPA	ESEE-704 Entrepreneurship in Education	GPA	Total (400)	%age	SGPA	Remarks
			Total Marks (100)		Total Marks (100)		Total Marks (100)		Total Marks (100)					
1	MP-EDU-S25-412	Aiman Pari	74	3.40	81	4.00	80	4.00	73	3.30	308	77.00	3.68	Promoted
2	MP-EDU-S25-413	Muneeza Nisar	75	3.50	80	4.00	77	3.70	76	3.60	308	77.00	3.70	Promoted
3	MP-EDU-S25-414	Urooj Alam	60	2.00	80	4.00	80	4.00	74	3.40	294	73.50	3.35	Promoted
4	MP-EDU-S25-415	Lubaina Pervaiz	70	3.00	83	4.00	75	3.50	81	4.00	309	77.25	3.63	Promoted
5	MP-EDU-S25-416	Damesha Athar	70	3.00	72	3.20	75	3.50	74	3.40	291	72.75	3.28	Promoted
6	MP-EDU-S25-417	Arisha Sohail	63	2.30	75	3.50	76	3.60	77	3.70	291	72.75	3.28	Promoted
7	MP-EDU-S25-418	Andalib Khurshid	74	3.40	84	4.00	80	4.00	80	4.00	318	79.50	3.85	Promoted
8	MP-EDU-S25-419	Sajida Batool	60	2.00	75	3.50	75	3.50	77	3.70	287	71.75	3.18	Promoted
9	MP-EDU-S25-420	Mujtaba Javed Iqbal	63	2.30	76	3.60	75	3.50	72	3.20	286	71.50	3.15	Promoted
10	MP-EDU-S25-421	Mehwish Fatima	77	3.70	75	3.50	75	3.50	73	3.30	300	75.00	3.50	Promoted
11	MP-EDU-S25-422	Manahil Binte Tariq	77	3.70	72	3.20	76	3.60	75	3.50	300	75.00	3.50	Promoted
12	MP-EDU-S25-423	Sumayya Maroof	60	2.00	76	3.60	76	3.60	70	3.00	282	70.50	3.05	Promoted
13	MP-EDU-S25-424	Hasina Jaffar	63	2.30	77	3.70	78	3.80	72	3.20	290	72.50	3.25	Promoted
14	MP-EDU-S25-425	Suha Batool Syed	51	0	71	3.10	72	3.20	73	3.30	216	54.00	2.40	Promoted on 1st Probation (Repeat Fail Subject)
15	MP-EDU-S25-426	Aqsa Habib	80	4.00	74	3.40	77	3.70	74	3.40	305	76.25	3.63	Promoted

16	MP-EDU-S25-427	Noor Ul Huda	50	0	71	3.10	70	3.00	73	3.30	214	53.50	2.35	Promoted on 1st Probation (Repeat Fail Subject)
17	MP-EDU-S25-428	Ameer Hussain	50	0	63	2.30	71	3.10	71	3.10	205	51.25	2.13	Promoted on 1st Probation (Repeat Fail Subject)
18	MP-EDU-S25-429	Safia Fatima	50	0	72	3.20	78	3.80	71	3.10	221	55.25	2.53	Promoted (Repeat Fail Subject)
19	MP-EDU-S25-430	Asma Rubab	A	0.00	A	0.00	A	0.00	A	0.00	0	0.00	0.00	Absent / Relegtaed / Repeat Full Semester
20	MP-EDU-S25-431	Bakhtawar Hameed	50	0	71	3.10	70	3.00	72	3.20	213	53.25	2.33	Promoted on 1st Probation (Repeat Fail Subject)
21	MP-EDU-S25-431-A	Ms Gu Xiaoyan	82	4.00	82	4.00	76	3.60	80	4.00	320	80.00	3.90	Promoted
Passing marks for each subject = 60													·	

Note: The result is declared, errors and omissions, if any, are excepted as a notice only and does not in itself confer any right or privilege independently.

Director Examinations

NATIONAL UNIVERSITY OF MODERN LANGUAGES EXAMINATIONS BRANCH

ML: 1/11-2020-Exam Dated: July 2025

NOTIFICATION

MPhil (Education) - 2nd Semester

End Term Result - June 2025

S#	Roll No.	Name	ESPE-705 Philosophical Foundations of Education		ESAE-706 Assessment and Evaluation in Education	GPA		GPA		GPA	Total (400)	%age	SGPA	CGPA	Remarks
			Total Marks (100)		Total Marks (100)		Total Marks (100)		Total Marks (100)						
1	MP-Edu-F24-158	Saima Malik	82	4.00	84	4.00	81	4.00	81	4.00	328	82.00	4.00	3.93	Promoted
2	MP-Edu-F24-159	Mahnoor Awan	72	3.20	80	4.00	64	2.40	76	3.60	292	73.00	3.30	2.93	Promoted
3	MP-Edu-F24-160	Javeria Atiq	64	2.40	80	4.00	80	4.00	80	4.00	304	76.00	3.60	3.70	Promoted
4	MP-Edu-F24-161	sadiqa yousaf	75	3.50	84	4.00	82	4.00	76	3.60	317	79.25	3.78	3.64	Promoted
5	MP-Edu-F24-162	Sundus kanwal	77	3.70	82	4.00	80	4.00	82	4.00	321	80.25	3.93	3.96	Promoted
6	MP-Edu-F24-164	Syeda Fatima Tajammal	75	3.50	81	4.00	78	3.80	76	3.60	310	77.50	3.73	3.78	Promoted
7	MP-Edu-F24-165	Fatima Khan	74	3.40	87	4.00	80	4.00	80	4.00	321	80.25	3.85	3.84	Promoted
8	MP-Edu-F24-166	Hafsah Khursheed	85	4.00	86	4.00	80	4.00	82	4.00	333	83.25	4.00	4.00	Promoted
9	MP-Edu-F24-168	Amna Sarfraz	81	4.00	81	4.00	80	4.00	75	3.50	317	79.25	3.88	3.88	Promoted
Pas	sing marks for each	subject = 60							1					1	'

Director Examinations

Note: The result is declared, errors and omissions, if any, are excepted as a notice only and does not in itself confer any right or privilege independently.